2025 TTIEFRE LR RS
2025/04/20 ~ 2025/04/20

Bff i I 20 37 AT 5T 61 M 8fir
4H208 IV F-50m fedk () 9.50(MAF  [E(2) 9.67 |4 iR A= 45(2) 9.98
J:+2.0 JEEVE B - RFIR Y =T WG O T &F BB BT R —
4A20H IS F-50m e JR=HE3) 8.83| ik #(3) 9.22| A #RFE(3) 9.22| 7RI ELIE(3) 9.39| 5 ¥ BHRE®B) 9.93
R+l Bk HRRRE E B BB R — ] BB OB T&E B IR - WAVEE I B Y a=T
41208 JNFARE T T-50m ESLRE-INCY 7.80| RATHLZ Hi(4) 8.26 | /N 3E KR (4) 8.39[Hikf —H(4) 8.61|faAR HiI4) 8.78|VH H %KE(4) 8.91
J:+1.0 WO SR a=T IR A —h IR A —h B BRI R — FEV S PR 2=T WG O T &F
4H208 R —— Saf AR (5) 8.02(+1.8)| Kfifh BEZh(5) 8.07(+1.8)|ILIA JHEL(5) 8.39(+1.8)| TEA fK.L:(5) 8.45(+1.8)| % H $3#(5) 8.47(+1.0)| PG IE FFER(5) 8.50(+1.8)| H K ML) 8.89(+1.0)|f= & HEK(5) 9.13(+1.0)
‘I - WAVE & I ‘I - WAVE & I R =R 2= B IR T AU — b B IR -NSA IR - WAVE 'S I B IR - WAVE 'S I BT AU — b
14208 N —— M ERH6) 7.51(+2.2)| BT ik (6) 8.04(+2.2)|88AK #E41(6) 8.04(+2.0) )&= $5H6) 8.13(+2.2)| LR 444 (6) 8.17(+2.2)|#A 2 HEEA(6) 8.39(+2.0)| N 5 K(6) 8.49(+2.0){T #7452 4r(6)  8.63(+2.0)
BRI T A — b BRI T A — b RO T&E BRI T A — b BRI T A — b BRI T A — b BRI A —h RO T&E
4A208 N £1000m 5 M ERFER6) 3:17.77|88AK #E(6) 3:26.00| L. N5 FH(6) 3:28.85|H 4 #—(6) 3:49.44 A 1K) 3:52.04|FEE HIRG) 3:52.99(PH [ A&HE(4) 4:02.06 7T A7 .2 41(6) 4:07.06
R - WAVEE I R O T&EF VL - HEAC O a7 GBI T R — b O Y a =T OO T&F OO T&F
WAVEEH IF} 61.57 [#i 7 AU —FA 61.61[#H% T A — B 62.98| =fx T 2=7 64.66| 57T AY—hC 65.86
PG FAFER(5) i STARap O] BAR 1&0(G6) EAL BESR6) KiFHZ #i(4)
4520 H INEHFAx100mR | K FEEh(5) M ELKIA®6) afe $33H6) e HG) O HR(5)
SRS HEEHR() TR B4 (6) W JRK6) LA JRELB) INREER ()
5 H R 6) (5 FNO) 2 BHEG) 5% E=—6) R E A E(6)
B EPNLG 4m09(+1.4
17200 INE S TR g ;uﬁ?%é;;xu_]\ ( )
1200 57100m GENEGE ] 10.99¢+1.8)[#oc BAi(1)  11.33G+1.8)| FHHE—/I2)  11.35G1.8)| M 4 11.35(+1.8)| AR 54(3) 1L43+1.8)|6 % B57(3)  11.61G+1.8) )1l = AB) 11611 BEREQ)  11.62(+1.4)
‘B FEAC B HRIUR o B - HRIUR o B IR ZE L JAC B R - HRIUR o OIS B =% B R - HRIUR 4
4A208 5 4200m B 23.49(+2.8)| 115 HHEL(3) 23.74G+2.8)[) 111 HRHE2) 23.97G2.8)[A)1 3 A(3) 24.01(+2.8)|EHEE BEAN(2) 24.21(+2.8)| RNF=EB(3)  24.25(+2.0)|FHu%nfn A (3)  24.29(+2.8)|#BH sEK(2) 24.38(+2.0)
B IR ZEE JAC R G R - O =A% O =A% JE Y I - e R g BRI
4H20H 5 5100m Vel e (2) 51.14|FH b3t 52.52|f@ ks 1&12(2) 53.08[) 1140 HAHE) 53.60|flHL Brilli(3) 54.55(11 00 JOHE(2) 55834 2 M 8 (1) 56.12| 517 1552 56.34
B R HRIUR o R E Ry R - IR - B - FUR o B R HRIUR 4 R - R - R
120 #7-500m iR KAE) 2:03.57|fi by AK1-(2) 2:03.85()1lI6F BEA(2) 2:05.18[ AT 3255(3) 2:09.12|Z 7 ZW0) 212,832 1&/rQ2) 2:14.92]) 17 H5E@) 2:17.49| 1AL ESH2) 2:17.73
B - HRIUR o IR - IR - B R - HRIUR o Ot T =R B IR - K T =R
4A208 5%1500m Ha BE®R) 3:57.06|#5 MEH(3) 3:57.16| KB {1 #1(2) 3:58.30| 7 JrAU(3) 3:58.32()IIF+ A HA(3) 3:58.86(44 M (1) 4:01.06|A[E] FHHTE) 4:04.51|7E7K FREL(3) 4:04.98
R R R R R R R R R B IR /bR B IR /bR B IR /bR
an20m %3000m B RRG) 9:25.30| 4 H #A() 9:3064| 5K JEA®) 9:40.69]f l BEA() 95181 AL HEH2) 955,741l SERF@) 1020235 BEE3)  10:25.70( 54 ER3)  10:30.89
B IR T A — b B P B R - HRIUR o B R - HRIUR - O =A% O =A% B R =Rt
AR (L) 16:55.88
47200 5 5000m "é.‘ Wﬁgﬁﬁﬁ%
ABIR o 1 43.91|#0 i 44.83|FLE 45.70| 7k A7.57| 47.84| FE it 48.02| =B 48.57|H 45 49.52
I Fii(3) EHAT i 5%2) BN BEAB) B BEEAIR) Hwo—3) FEA SRE(3) iy FA=(3) WEH FakG3)
47120R 5 F4x100mR T WA (1) S #:2H3) HiTH A€ 24(3) Be sER1) e KAE2) R OBLHO) HBEE BEER(2) it zniin A (3)
S 3(2) JIH HRAE(2) BE E}3) ZH ORI I iH2(3) P12 F—ix(2) SHEER) Frl KA Q2)
=5 VEQ2) fEiE 1&1=2) B9 Bi@3) i) A — () il [ 5= KEG3) KA ARR) [ B A(2) B3 WEFH3)
. =B THE2) Im75| /5 A 2R2) 1m60| K BEIAQ2) 1m25
s PERERE e gt B B W=l
. - 6 6m60(+1.5)|HRMH — 6mO0(+0. D[ Wi(3)  5mIlC+0.7)|{ERE K02  5SmTIGH1.8)|8KM #isk(3)  5m67G+L3)|fh B ARIGB)  5m02(-0.H[WEF E{=(3)  4m94(+1.6)[% - —(3) 4m89(+1.6)
B - IUR - B B IR PEIAC B -HIUR - B B B B -HIUR - B B = B fER
iA0n| s ARGy | RSIERD Tm91| 7 Bk (2) Sm78[ KT #E(2) 5m76| 1 ) 5md3| KM %) 4m75
R i R = R R AR
no0n| mES ARGk |0 TEAD 8m09

Bk




LA 200 IINF2AE AL F-50m RN EEE(2) 9.03|FH 7 J1H¥%(2) 9.65( L FH(2) 9.70 5k Fif(2) 10.42(HJ5 9222(2) 10.67FA%E BIA(2) 10.83
B:+1.6 YA - KEE)1/ I NSA BRI A —b BRI A —b " RO T&F " RO T&F
1200 sy psom | AFEQ) 8BIGLE) MY FIAB)  8.86(2.2)|HHIIARG)  9.15(2.2)| L () 9.16C+L8)[ AT JAELG)  9.18G2.2)|REHEMEB)  9.27G2.2)|fEfk WG 9.28(+2.2)[ kA HE3)  9.35(+3.2)
B WAVEE I BRI R — b BRI A — b B WAVEE I H O Y a=T IR - WAVEE IR BRI R — b B Y a=T
L R 3(4) 8.45(+1.5)| A Hh.Cr(4) 8.ATG+2.7)| 3R Hifb(4) 8.69(+2.7)| 1] FE3E(4) 8.89(+1.5)| MEEBIXH(4) 8.91(+1.5) A FZE4) 8.95(+2. 7)WL SH(4) 8.97(+1.5)
4H208 N B RO T&F I WAVE S I6 BRI A — b B Y a7 R EIRT A —k T WAVEE I G O T&T
INFAAE AL £-50m 5
[OES =X (0] 8.91(+1.5)
‘" O T&E
1200 persirgsom | T DG TSIGLAMROREE) 812012 fEdE  IG) 8.30(+L.2)fE  E{E®) 8.54(+L.2)[IhPH ABHEG)  8.76(+1.2)| WA HHZRG)  8.78(+L.2)|HME WHEG)  9.01GL2)[AIE KHEG)  9.04(+0.8)
IR - WAVEE IR R HIRT AU —b R -HIRT AU —b B a7 B I WAVEE IR R -HIRT AU —b B WAVEE IR B Y a7
1H200 pesepirson |1 BEEE)  TS3CGL2\WME TAE)  TI0GOS) AT FEKE)  T82CL2|fEM KEE)  T.93GO.8)|NE REE)  TOTCLEE DIHIE)  8.00GL2VNEHZHE) 8020 12(IIH AE)  8.11(:0.8)
R H RO T&E R -HBR T AU —b IR WAVE B I IR WAVE B I I WAVEE I BRI AY — B  ERRE b
1200 N4 800m Wi FEARLG) 2:46.293T%F  ZHN(6) 2:47.27\1L0 H2(6) 2:51.70{%5C WEH(6) 2:54.21|WAJ 7272 74(6) 2:55.45| 74 HH ERJZ3(6) 3:01.73|fEFT R (6) 3:01.87| E%F Jk#E(6) 3:07.39
R -HIRT AU — b H - OB T&EF R R b B Y a7 B OB T&EF B SR a7 ‘B I - WAVE'E 6 BRI A —
1200 e |WAVRRZNE)  3mOlGLO) AU ASE6)  3m82+ LR KEE)  3m69C+1.1)
H - OB T&F ‘B I - WAVE'E G ‘B I - WAVE'E G
WAVEE A 59.98|#4sk 7 AU —hA 60.25| “Jr =7 60.48| DT T&F 62.02|WAVE= I B 63.40 ¥4 T A — B 64.52|WAVEE I C 67.50
Kis HE(6) B Ov7=(5) A EE6) HJE #34) S 1&%(6) LB RRA6) RS R (6)
17200 /N4 4x100mR WH A 6) i #REL6) Bt HERL6) AJ7272 77(6) ikl H(6) fiidz  Wi6) HiAE AhL(4)
I 6] THE ME6) 8 B R 45(6) i FHR6) KR FI7(6) R ) e AlEE(5)
gk BIRi6) /1N AT % F3(6) 2 (6) B PR A RiE6) HE EHAG) ARk hd#E(5)
4A20H L7 100m JEH H#EIRG)  12.69G1L3) K ARZRQ2)  13.01GLE)[FMG Q) 13.15(+1.5)| ) 11283 13.19G+1.3)[3F78  E(3) 13.25(+1.3)|F8 M ARZ(3) 13.43(+1.5)|#hE FEUL(2)  13.48(+0.6)|Ef FEEF(Q2)  13.49(+0.6)
B I - WAVEE il B I - WAVEE i B I - WAVEE il B IR PEAC B IR - PEAC R = B - AR R =
1208 7 200m LS 6)) 27.58(+1L.E)| AN HPR2)  27.98(+1.5)| M FAZR(3)  28.28(+1.5)|HhE EEk(2)  28.36(+0.2)|3FFE  F(3) 28.36(+1.5)|ARIL FIHR(2)  28.43(+0.2)|=il BAE(2)  28.68(+L.5)/II AAEQR)  29.00(+0.2)
B IR - WAVE B il O =R O = B - AR B IR - PEAC R O =R IR BN
4A208 2 400m I DR 3) 1:05.79|/1M01 £EFE(2) 1:06.23|MH HAEQ2) 1:16.10{ B §#22(3) 1:18.87 | W [LITHT(3) 1:37.96
IR R el I ST B HR  fE O =R O =R
1208 7 800m BH DEER) 2:24.49| #1141 255 (3) 2:31.35\%50 EAE(Q2) 2:32.14( 18RS HIPI3) 2:35.23| RIS H(2) 2:36.03| Bt ZHH(2) 2:39.75(3¢  FUHE(3) 2:39.91|4)11 25(3) 2:39.98
B IR - WAVE B il O =R O = B IR - WAVE B il O =R O =R O =R O
4A208 Je1500m St EAEQ) 5:07.49| 411125 (3) 5:17.96(52  FHHE(3) 5:26.34| 8ot 2 HH(2) 5:30.74| F .2 _LBeAR(3) 5:54.95| F 3 A 330(2) 6:11.42|fURE ZHR(1) 6:26.70 B AT AT 3(3) 6:33.83
O =R O = O =R O = O =R O =R R O =
WAVEE IFA 50.12|WAVEE I B 53.33| =k A 53.46 ik 54.23 (Pl 54.59|HE bk 55.56| — %+ B 57.31| Fit-fith 57.61
# KAL) SEARKYEAR2) FEMFAAN2) fiidy WiA(2) ERIATIR(2) KL R, #(3) KR #L2) FHRHIBHEH3)
17201 £F-4x100mR Kl ARAR(2) PP HERR(L) PEH HRA3) 1L RS ME(2) wR Jh12) i PEo(2) il ) HA BE2E2)
PG HEE(2) WH HEREEG) 15 HhAR) 1LikF H51-(2) REA HhH(3) TR A 72(2) i)ll BLEE(3) DA AR (3)
JEEFH #EE(3) HHLIEER) Q) AR FIIRQ) Ai FH B4 AT (2) FREF H2E(3) IRARORT=(2) I MER)
B AH3) 1mb55|FkEF FZE(3) 1m50|HAL SER%(3) 1m45(E A J51(2) 1m35 Fi)ll PELEE(3) 1m25 A Q) 1m15
14208 R B IR HRIR e IR JHE Y I - o O O =A% O =A%
el REHE(3) 1m35 EH Q) 1m25
O O
1200 P R VLES 5m28(+1.2)[HH  #R(2) 4m8L(+1.6)|F 5 #EE(2)  AmT3GH2.0)|fHiE WIA(Q2)  Am3L1GH2.9)[ARHE K33 4ml12(+2.3)[1EF MHAR)  4ml2GlL[HZ B #©@)  4ml1G3.D| EEAITIREQ) 3m92(+2.4)
=R EhAC IR FEHAC IR PEHAC IR K T ARam09G1L5)|E IR ASEFIM 2dames0.3)|H IR =k HOW-WAVEER  a@iasel|m I eglE T A#m576:2.0)
w208 s 1Lk $§-(2) Tm74| B4 #R(2) Tm29fEH F#I5(1) Tml0|#i A #Ex(2) 6m15|A% . #(3) 6m15| T /3 HHE3) 5m77| ¥ AhFR(2) 5m61{[Lfh #i%(3) 5m08
FRPRANAEQ.721ke) |, . - o s . e " o . ot T -
B ok Bk =R Bk Bk =R B - JE B - JE R G O =A%
iHzon|  EE T | RER ARTSQ) 8m78
(4.0kg) B - HRIUR o




